
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain clearly the different objectives of Business 

finance. 

 ÁoP {v°ß £À÷ÁÖ ÷|õUP[PøÍz öuÎÁõP 

ÂÍUSP. 

2. What is cost of capital? Explain the significance of 

cost of capital. 

 •uÀ AhUP® GßÓõÀ GßÚ? Auß •UQ¯zxÁ® 

¯õx? 

 UG–490 BCS–31/BAF–31 
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3. State the importance of capital structure. 

 •uÀ Pmhø©¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

4. Discuss the factors which affect the size of 
receivable. 

 ö£ÖuØS›¯ PnUSPÎß AÍÂøÚ¨ £õvUS® 

PõμoPøÍ ÂÁõvUPÄ®. 

5. Explain the different forms of dividend. 

 £[S Buõ¯zvß £À÷ÁÖ ÁiÁ[PøÍ ÂÍUSP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Analyse the different functions of finance. 

 {v°ß £À÷ÁÖ £oPøÍ¨ £S¨£õ´P. 

7. Explain the different sources of security financing. 
State the merits of each security. 

 ¤øn¯ {v°ku¼ß £À÷ÁÖ Buõμ[PøÍ 

ÂÍUSP. JÆöÁõ¸ ¤øn¯zvß |ßø©PøÍ 

ÂÍUSP. 

8. Discuss the factors which determine the capital 
structure. 

 •uÀ Pmhø©¨¤øÚ {ºn°US® PõμoPøÍ 

ÂÍUSP. 
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9. Explain the different components of working 
capital. 

 |øh•øÓ •u¼ß £À÷ÁÖ TÖPøÍ ÂÍUSP. 

10. Briefly explain the MM approach to the concept of 
dividend. 

 £[S Buõ¯P¸zvØPõÚ G®G® AqS•øÓø¯ 

_¸UP©õP ÂÍUSP. 

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2018. 

Third Year 

AUDITING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  What are the advantages of Independent audit? 

 _¯z uoUøP°ß |ßø©PÒ ¯õøÁ? 

2.  Explain the procedure for auditing under EDP. 

 ªß ~qUP ÂÁμ ö\¯À•øÓ°À uoUøP°ß 

|øh•øÓø¯ ÂÍUSP. 

3. What are the steps to be taken by an auditor in 

vouching cash transaction? 

 öμõUP Hmk \õßÓõ´Âß ÷£õx J¸ uoUøP¯õÍº 

GkUP ÷Ási¯ |hÁiUøPPÒ ¯õøÁ? 

 UG-507 BAF-32
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4. What is depreciation? How does it differ from 
fluctuation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? Cx GÆÁõÖ HØÓ 

CÓUSu¼À C¸¢x ÷ÁÖ£kQßÓx? 

5. What are the classes of Investigation? 

 B´ÄPÎß ÁøPPÒ ¯õøÁ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Distinguish between Internal check and Internal 
audit. 

 APa^μõ´Ä ©ØÖ® AP uoUøPø¯ ÷ÁÖ£kzxP. 

7. Explain the factors to be kept in mind while 
examining vouchers. 

 \õßÖPøÍ \›£õºUS® ÷£õx ©ÚvÀ C¸UP 

÷Ási¯ PõμoPøÍ ÂÁ›. 

8. Explain the duty of auditor regarding  
Depreciation. 

 ÷u´©õÚ® öuõhº¦øh¯ uoUøP¯›ß Phø©ø¯ 

ÂÁ›. 

9. Discuss the powers of the company auditor. 

 {Ö© uoUøP¯›ß AvPõμ[PøÍ £ØÔ ÂÁõv. 
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10. Explain the approaches to audit under EDP 
Environment. 

 ªß ~qUP ÂÁμ ö\¯À•øÓ°À uoUøP°ß 

AqS•øÓø¯ ÂÁ›. 

11. Discuss the liabilities of an auditor under the 
Companies Act, 2013. 

 {Ö© \mh®, 2013&ß RÌ J¸ uoUøP¯›ß 

ö£õÖ¨¦PøÍ ÂÁõv. 

12. What are the differences between auditing and 
Investigation? 

 uoUøP°¯¾US® ©ØÖ® B´ÄUS® EÒÍ 

÷ÁÖ£õkPøÍ ÂÁ›. 

  

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

Accounting and Finance 

INCOME TAX 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Who are the various types of persons coming 
under the scope Income Tax? Briefly explain. 

 Á¸©õÚ Á› Áμ®¤ØSÒ ÁμUTi¯ £À÷ÁÖ |£ºPÒ 

¯õº? _¸[P ÂÁ›. 

2. Mr. Dinesh works in Government of Tamilnadu. 
He gives the following details for the previous year 
2016-17. 

 Basic salary  – Rs. 5,000 p.m 

 D.A (FP)   – Rs .1,000 p.m. 

 D.A (Not F.P)  – Rs. 750 p.m. 

 UG–508 BAF–33 
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 HRA   – Rs 600 p.m 

 E.A   – Rs 250 p.m. 

 He claims that he pays a rent Rs.200 p.m. and he 

has spend Rs.3,000 towards E.A (Entertainment 

Allowance). Compute his gross salary for the 

assessment year 2017-18. 

 v¸. v÷Úè uªÌ|õk Aμ_ £o°À EÒÍõº. 

•¢øu¯ Bsk 2016&17UPõÚ ÂÁμ[PøÍ R÷Ç 

u¸QÓõº. 

 Ai¨£øh \®£Í® – ¹. 5,000 (©õu® JßÔØS) 

 APÂø»¨£i (Ai¨£øh \®£Í® \õº¢u) – ¹. 1,000 

(©õu® JßÔØS) 

 APÂø»¨£i (Ai¨£øh \®£Í® \õº¢u) – ¹. 750 

(©õu® JßÔØS) 

 Ãmk ÁõhøP £i ¹. 600 ©õu® JßÔØS 

 ÷PÎUøP £i ¹.  250 ©õu® JßÔØS 

 ÃmiØPõÚ ©õu ÁõhøP ¹. 200 ö\¾zxQÓõº. ÷©¾® 

÷PÎUøP ö\»ÁõP ¹. 3,000 ö\»ÂkQÓõº. 

 Á› PnURmk Bsk 2017&18UPõÚ AÁ¸øh¯ 

ö©õzu \®£Ízøu PnUQkP. 
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3. Mr. Sultan Singh gives you the following 
particulars from his accounts from the year ended 
31.03.2017. 

 Net profit as per P & L A/c (without charging the 
following items Rs. 2,75,000 

 Expenditure on family planning Rs. 45,000 

 Lump sum consideration for purchase of technical 
know-how developed in government laboratory  
Rs. 90,000 

 Entertainment expenditure Rs. 30,000 

 Expenditure on acquisition of patent rights  
Rs. 84,000 

 Expenditure on advertisement paid in cash  
Rs. 18,000 

 Provision for excise duty Rs. 45,000 

 [He paid Rs. 20,000 on 27-6-2017 and Rs. 7,000 on 
10-11-2017, 

 Amount paid to Punjab University for an approved 

 Programme in the field of Social Science not 
connected with his business. Rs. 32,000 

 Compute his business profit for the year ending 
31-3-2017. 
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 Bsk CÖv |õÍõÚ 31.3.2017 AßÖ _Àuõß ][Qß 

PnUSPÒ £ØÔ¯ Â£μ[PÒ R÷Ç uμ¨£mkÒÍÚ. 

C»õ£ |mh PnUS£i 

 {Pμ C»õ£® ¹. 2,75,000 (R÷Ç EÒÍ Â£μ[PÒ 

GkzxU öPõÒÍõu÷£õx)  

 Sk®£ Pmk¨£õmk ö\»Ä ¹. 45,000 Aμ]ß 

B´ÁPzvÀ ÷©®£kzu¨£mh 

 öuõÈÀ~m£ AÔÄ&\õº ö©õzu öuõøP ö\¾zv 

Áõ[Q¯x ¹. 90,000 

 ÷PÎUøP ö\»Ä ¹. 30,000 

 Põ¨¦›ø© Áõ[Q¯uØPõÚ ö\»Ä ¹. 84,000 

 £n® ö\¾zv¯ ÂÍ®£μ® «uõÚ ö\»Ä ¹. 18,000 

 P»õÀ Á›UPõÚ Põ¨¦ ¹. 45,000 

 (27.6.2017 AßÖ ¹. 20,000 ö\¾zu¨£mhx ©ØÖ® 

10.11.2017 AßÖ ¹. 7,000 ö\¾zu¨£mhx 

 Á› PnUS uõUPÀ ö\´¯ ÷Ási¯ |õÒ 31.7.2017) 

 £g\õ¨ £ÀPø»PUPÇP \‰P AÔÂ¯À öuõhº£õÚ 

A[RP›UP¨£mh vmhzvØPõP ö\¾zu¨£mh öuõøP 

BÚõÀ AÁº Â¯õ£õμzvØS öuõhº£ØÓx ¹. 32,000 

 Bsk CÖv |õÍõÚ 31.3.2017&À CÁ¸øh¯ 

Â¯õ£õμ C»õ£zøu PnUQkP. 
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4. Mr.G.Bedi owns horses at Bombay and Bangalore. 
These horses run for races at the race course. 
During the year 2016-17 Mr. Beth submits the 
following information : 

 Expenses on race horse at Bombay 2,60,000 

 Expenses on race horses at Bangalore 4,30,000 

 Stake money earned by horses at 

 (a) Bombay    1,20,000 

 (b) Banglore    5,00,000 

 Mr. Bedi received Rs. 1,05,000 on 1.7.2016 on 
betting during horse races at Bombay. Compute 
his taxable income under other sources. 

 •®ø£ ©ØÖ® ö£[PÑ›À v¸. â. ÷£i C¢u 

SvøμPÒ £¢u¯[PÎÀ £[÷PØQßÓÚ. 2016&17 

BskPÎÀ v¸. ÷£i ¤ßÁ¸® uPÁø» 

\©º¨¤zuõº. 

 £¢u¯ Svøμ°À ö\»ÄPÒ £õ®÷£°À  2,60,000 

 £¢u¯ Svøμ°À ö\»ÄPÒ ö£[PÑ›À  4,30,000 

 £¢u¯ SvøμPÎÀ ö\»ÄPÒ SvøμPÍõÀ \®£õvzu 

£n®  

 (A) £õ®÷£     1,20,000 

 (B) ö£[PÑ›À   5,00,000 

 v¸. ÷£i £õ®÷£°À Svøμ £¢u¯[PÎÀ £¢u¯® 

Pmk®÷£õx 1.7.2016 AßÖ ¹. 1,05,000 ¤Ó 

Buõμ[PÎß RÌ Á›US›¯ Á¸©õÚzøuU PnUQk.    
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5. Shri Anil earned total income of Rs. 5,00,000 in 
the previous year 2016-17 and made the following 
donations during the year : 

 Rs. 10,000 to Chief Minister’s Earthquake Relief 
Fund Gujarat. 

 Rs. 15,000 to National foundation for Communal 
Harmony. 

 Rs. 20,000 to Municipal Corporation approved for 
promotion of family planning. 

 Rs. 45,000 to approved institutions. 

 Compute the amount of deduction admissible to 
him u/s 80G for the assessment year 2017-18. 

 ÿ AÛÀ  •¢øu¯ Bsk 2016&17 B® BsiÀ  

¹. 5,00,000 ©ØÖ® BskUS ¤ßÁ¸® |ßöPõøhPøÍ 

ÁÇ[Q¯x. 

 Sáμõz •uÀÁº §P®£ {Áõμn {vUS ¹. 10,000 

 ¹. 15,000 P®³Ûìm íõº÷©õÛ°ß ÷u]¯ 

AizuÍzvØS 

 Sk®£z vmhªhÀ ÷©®£õmkUPõP •Û]£À 

Põº¨£÷μåÝUS ¹. 20,000 ÷£º J¨¦uÀ AÎzuÚº. 

 ¹. 45,000 A[RP›UP¨£mh {ÖÁÚ[PÐUS. 

 2017&18 ©v¨¥miØPõP AÁ¸US  u/s 80GUS 

AÝ©vUP¨£k® x¨£Ô²® AÍÄ PnUQk. 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. The following are the details of income of Shri 
Ram Lal : 

 (a) Share of income from a joint venture in India 
Rs. 10,000 

 (b) Dividend Rs. 1,000 

 (c) Income from agricultural in Pakistan 
Rs.20,000 

 (d) Salary received in India Rs. 9,800 
(computed) but the services for the same 
were rendered in Iran.  

 (e) Income from business (controlled from India) 
in Pakistan Rs. 10,000 and the income 
remitted to India. 

 (f) Income earned and received in Pakistan from 
bank deposits Rs. 5,000 

 (g) Income accrued in India but received in Iran 
Rs. 10,000 

  Compute Mr Ram Lal’s taxable income if he 
is (i) a resident (ii) a not ordinarily resident 
or (iii) a nonresident. 

 ÿ μõ® »õ¼ß Á¸©õÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

 (A) C¢v¯õÂÀ Tmk {ÖÁÚzv¼¸¢x 

Á¸©õÚzvß £[S ¹. 10,000 

 (B) iÂöhßm ¹. 1,000 
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 (C) £õQìuõÛÀ ÂÁ\õ¯zv¼¸¢x Á¸©õÚ®  

¹. 20,000  

 (D) C¢v¯õÂÀ \®£Í® ö£ØÓx ¹. 9,800 

(PnUQh¨£mh) BÚõÀ A÷u ÷\øÁPøÍ 

DμõÛÀ ÁÇ[P¨£mhx 

 (E) £õQìuõÛÀ Â¯õ£õμzv¼¸¢x Á¸©õÚ® 

(C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£kQÓx)  

¹. 10,000 ©ØÖ® C¢v¯õÄUS Á¸©õÚ® 

 (F) £õQìuõÛÀ Á¸©õÚ® 5,000 ¹£õ°¼¸¢x 

Á[Q°hª¸¢x ö£ØÓx 

 (G) C¢v¯õÂÀ \®£õvzu Á¸©õÚ® DμõÛÀ  

¹. 10,000 

  AÁº (i) J¸ Si°¸¨£õÍº  (ii)  CÀø»ö¯ÛÀ 

\õuõμn©õP Á]¨£Áº AÀ»x  (iii)  J¸ 

Si°¸¨£õÍº CÀø»ö¯ßÓõÀ v¸. μõ® »õ¼ß 

Á›US›¯ Á¸©õÚzøu PnUQk[PÒ. 

7. From the following information, compute the 
taxable income under the head ‘Salaries” of Shri 
Ramkant, who is working as a driver in a 
transport company. 

 (a) Salary Rs. 8,000 p.m. 

 (b) Arrears of salary Rs. 4,000 

 (c) D.A Rs. 2,000 p.m. 

 (d) Employer is paying insurance premium of 
Rs. 16,000 pa. on Ramkant’s life. 
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 (e) Bonus received Rs. 15,000 

 (f) Education allowance for grand child Rs. 400 
p.m. 

 (g) Cash gift Rs. 10,000 

 (h) City compensatory allowance Rs. 1,000 p.m. 

 (i) Medical expenses paid by employer Rs. 6,000 

 (j) He contributes 15% of his salary to a 
recognized provident fund and his employer 
contributes the same. 

 (k) He is given lunch allowance @ Rs. 100 per 
day for 250 days during the previous year 
2016-17. 

 (l) He is provided with a mobile, bill of which is 
paid by company Rs. 6,000. Ascertain his 
taxable salary for the AY 2017-18. 

 ¤ßÁ¸® uPÁÀPÎhª¸¢x uø»°ß RÌ Á›US›¯ 

Á¸©õÚzøu PnUQh ÷£õUSÁμzx {ÖÁÚzvÀ J¸ 

C¯UQ ÷Áø» ö\´²® ÿ μõ®P¢z \®£Í® 

 (A) \®£Í® ¹. 8,000 p.m 

 (B) \®£Í {¾øÁ ¹. 4,000  

 (C) i.H. 2,000 p.m 

 (D) Põ¨¥mhõÍº Põ¨¥mk ¤Ÿª¯® ¹. 16,000 p.a. 
μõ®Põ¢vß ÁõÌUøP°À,  

 (E) ÷£õÚì ¹. 15,000 
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 (F) ö£›¯ SÇ¢øuUS PÀÂ öPõk¨£ÚÄ ¹. 400 p.m 

 (G) £n ÁμÄ ¹. 10,000 

 (H) |Pμ CÇ¨¥mk öPõk¨£ÚÄ ¹. 1,000 p.m 

 (I) •u»õÎ¯õÀ ÁÇ[P¨£k® ©¸zxÁ ö\»ÄPÒ 

¹. 6,000 

 (J) uÚx Fv¯zvÀ 15 \uÂQu® A[RP›UP¨£mh 

©õPõn {vUS £[PÎ¨£õº ©ØÖ® AÁμx 

•u»õÎPÐ® A÷u £[PÎ¨ø£ 

ÁÇ[SQßÓõº. 

 (K) ©v¯ EnÄ öPõk¨£ÚÄ ¹. 2016&17 •¢øu¯ 

Bsiß 250 |õmPÐUS J¸ |õøÍUS 100 

 (JÍ) AÁº J¸ ö©õø£À ‰»® ÁÇ[P¨£kQÓõº. 

CvÀ ¤À {ÖÁÚ® ¹. 6,000. AY 2017-18UPõÚ 

Á›US›¯ \®£Ízøu AÔ¢x öPõÒÐ[PÒ. 

8. Following is the Profit and Loss Account of Kesari 

Malya for the previous year 2016-2017.  

Profit and Loss account 

 Rs.  Rs. 

To salaries 25,650 By gross profit 80,000

To rent 1,000 By bank interest 450
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 Rs.  Rs. 

To commission   By bad debts  

  on sales 100  recovered (last 

To income-tax 2,600   year allowed) 2,000

Entertainment   By rent from house 

 expenses 600   property 4,800

Commission paid   By interest on 

  to collect interest     commercial  

  on securities 25   securities 2,000

Embezzlement by    

  cashier 1,000  

Municipal tax of    

  H.P. 600  

Bad debts (allowed) 450  

Repairs to house  1,625  

Office expenses 9,180  

Depreciation 5,000  

L.I.C premium 1,320  

Net profit 40,100  

 89,250  89,250

 Depreciation on the assets is Rs. 4,500 

 Compute the taxable business income for the 
assessment year 2017-2018. 
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 2016&2017B® BskUPõÚ ÷P\› ©õÀ¯õÂß »õ£® 

©ØÖ® CÇ¨¦ PnUS. 

»õ£® ©ØÖ® CÇ¨¦ PnUS 

   

\®£Í® 25,650 ö©õzu »õ£® 80,000

ÁõhøP 1,000 Á[Q Ámi 450

ÂØ£øÚø¯ Pªåß   ÷©õ\©õÚ PhßPøÍ  

 ö\´¯ 100  Ãmk (Ph¢u Bsk 

Á¸©õÚ Á› 2,600   AÝ©v) 2,000

ö£õÊx÷£õUQß   Ãmk ö\õzx C¸¢x  

  ö\»ÄPÒ 600   ÁõhøPUS 4,800

PªåÚº £zvμ[PÒ   ÁoP¨ £zvμ[PÒ 

«uõÚ Ámi ÷Põ›UøP 25   «uõÚ Ámi 2,000

Põ\õÍº ‰»® ÷©õ\i 1,000  

H.P.&ß |Pμõm] Á› 600  

÷©õ\©õÚ PhßPÒ   

 (AÝ©vUP¨£mhøÁ)  450  

ÃmiØS £Êx 1,625  

A¾Á»P ö\»ÄPÒ 9,180  

÷u´©õÚ® 5,000  

L.I.C. ¤Ÿª¯® 1,320  

{Pμ »õ£® 40,100  

 89,250  89,250

 ö\õzxUPÒ «x ÷u´©õÚ® ¹. 4,500 

 ©v¨¥mk Bsk 2017&2018US Á›US Em£mh 

ÁoP Á¸Áõø¯ PnUQk[PÒ. 
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9. Mr. X owns 2 acres of agricultural land in an 
urban area of Ludhiana which he sold on 
30.11.2016 for Rs.50 lakhs per acre. Other 
particulars are 

 (a) Cost of 2 acres of land purchased in 1977 
Rs.6 lakhs 

 (b) F.M.V as on 1.4.1981 Rs. 6.50 lakhs 

 (c) Selling expenses Rs.1 lakh 

 (d) He owns one residential house on 30.11.2016 

 (e) Date of filing return of income is 31.07.2017 

 (f) Mr. X purchased 10 acres of agricultural 
land in a rural area for Rs.10 lakhs on 
10.06.2017 

 (g) Mr. X purchased a piece of plot to construct a 
residential building for Rs.6 lakhs at 
Ludhiana. 

 (h) He deposits Rs.15 lakhs in a Schedule bank 
in a Capital Gain Deposit Account Scheme 
on 30.07.l7to construct a residential house. 

 (i) Amount invested in Bonds of National 
Highway Authority of India Rs. 5 lakhs on 
31.03.2017. Assume that he actually 
withdraws Rs.12 lakhs from the deposit 
account to complete his residential house. 
Compute the capital gain. 
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 ¾v¯õÚõ |P›¾ÒÍ 2 HUPº ÂÁ\õ¯ {»zøu  

v¸. GUì 30 HUPº {»® J¸ HUP¸US ¹. 50 

»m\zvØS ÂØÓÒÍx. ©ØÓ ÂÁμ[PÒ. 

 (A) 1977 B® BsiÀ Áõ[P¨£mh 2 HUPº 

{»zøu 6 »m\® ¹£õ 

 (B) 1.4.1981 AßÖ F.M.V ¹. 6,50 »m\® 

 (C) ÂØ£øÚ ö\»ÄPÒ ¹. 1 »m\® 

 (D) 30.11.2016 AßÖ AÁº J¸ Si°¸¨¦ 

CÀ»zøu øÁzv¸UQÓõº 

 (E) Á¸©õÚzøuz v¸¨¤a ö\¾zx® ÷uv 

31.07.2017 BS® 

 (F) 10.06.2017 AßÖ ¹. 10 »m\ ¹£õ´US ¹. 10 

HUPº ÂÁ\õ¯ {»® Áõ[Q¯ v¸. GUì 

 (G) ¾v¯õÚõÂÀ ¹. 6 »m\® ¹£õ´US J¸ 

Si°¸¨¦ Pmhhzøu Pmk® vmhzøu  

v¸. GUì Áõ[Q¯x 

 (H) 30.7.17 CÀ ‰»uÚ Buõ¯ øÁ¨¦U PnUSz 

vmhzvÀ J¸ vmhªh¨£mh Á[Q°À ¹. 15 

C»m\® øÁ¨£õº 

 (I) C¢v¯ ÷u]¯ ö|kg\õø» Bøn¯zvß 

£zvμ[PÎÀ •u½k ö\´¯¨£mh öuõøP  

¹. 31.03.2017 AßÖ 5 »m\® 

  Si°¸¨¦ Ãmøh Pmi •i¨£uØPõP ¹. 12 

»m\zøu øÁ¨¦ {v°¼¸¢x GkzuuõP P¸u 

÷Ásk®. ‰»uÚ Buõ¯zøu PnUQkP. 
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10. Compute income from other sources from 
particulars given below : 

 Rs. 

Interest on deposits with a company 10,000

University remuneration for working as 
examiner 6,000

Royalty for writing books 60,000

He claims to have spent Rs. 20,000 on writing 
these books 

Dividend received from Public Sector 
Company Rs. 3,000 and collection charges for 
dividend received Rs. 300 

Rent from letting machinery Rs. 5,000 p.m. 
Depreciation on machinery Rs. 10,000. 
Repairs on machinery Rs. 5,000 

Rent form letting plot of land 2,000 p.m. 

Stake money on race horses 1,50,000

Horses are maintained by him and expenses 
on maintenance of these horses are 

2,40,000

Family pension received 36,000

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ©ØÓ 

Buõμ[PÎÀ C¸¢x Á¸©õÚzøu PnUQk[PÒ. 

J¸ {ÖÁÚzxhß øÁ¨¦z öuõøP «uõÚ Ámi  

¹. 10,000 

 £ÀPø»UPÇP Fv¯® £›÷\õuøÚ¯õÍμõP £o¦›²® 

¹. 6,000 

 ¦zuP[PøÍ GÊxÁuØS μõ¯Ài ¹. 60,000 

 C¢u ¦zuP[PøÍ GÊxÁuØS ¹£õ´ 20,000 
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 ö£õxzxøÓ {ÖÁÚzv¼¸¢x iÂöhßm 

ö£Ó¨£mhx ¹. 3,000 ©ØÖ® DÄzöuõøPUPõÚ Á`À 

Pmhn[PÒ ¹. 300 

 C¯¢vμ[PøÍ Âhõ©À ÁõhøPUS ¹. 5,000 p.m. 
C¯¢vμ[PÒ «uõÚ ÷u´©õÚ® ¹. 10,000 

 C¯¢vμ[PÎß £Êx ¹. 5,000 

 {»® «uõÚ ÁõhøP ¹. 2,000 p.m. 

 CÚ® SvøμPÎÀ £n® \®£õvUP ¹. 1,50,000 

 SvøμPÒ AÁøμ £μõ©›UQßÓÚ ©ØÖ® C¢u 

SvøμPøÍ £μõ©›¨£uØS BS® ö\»ÄPÒ  

¹. 2,40,000 

 Sk®£ K´Äv¯® ¹. 36,000 ö£ØÓx.  

11. Shri.S.K. Basu is in service in Calcutta 
(Population above 25 lakhs) drawing a monthly 
salary of Rs. 15,000 p.m. he is also provided with a 
rent –free unfurnished flat, for which employer 
pays a rent of Rs. 2,500 p.m. He contributes 10 
percent of his salary to a recognized provident 
fund. The interest @ 8% on his provident fund for 
the year ended 31st March 2015 amounted to 
Rs.2,500. He is also the owner of a house which is 
let out at a monthly rent of Rs. 2,500. His 
expenses for house were : 

 Municipal taxes    3,000 

 Interest on loan for construction of the house 6,600 

 Repairs      500 
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 He has also interest on govt. securities amounting 
to Rs. 14,000 (Gross). 

 He has also received a share from a firm assessed 
as firm of Rs. 5.000 and his share of firm’s tax 
amounts to Rs. 600. He has paid life insurance 
premium for a policy on his own life Rs. 700. He 
paid Rs. 200 to P.M. National Relief Fund. 
Compute the Total income of Shri. Basu. 

 Shri.S.K. £õ_ PÀPzuõÂÀ (25 »m\zvØS® ÷©»õÚ 

©UPÒ) ÷\øÁ°À £o¯õØÔ Á¸QÓõº. 15,000 p.m. 

AÁº J¸ ÁõhøP²hß C»Á\©õP¨ ö£õ¸zu©ØÓ 

¤Íõm ÁÇ[P¨£kQÓõº. AuØPõP •u»õÎ¯õP  

¹. 2,500 p.m. AÁº uÚx Fv¯zvÀ 10 \uÂQu® 

A[RP›UP¨£mh ©õPõn {vUS £[PÎ¨¦ 

ö\´QÓõº. 2015 ©õºa 31 B® ÷uv²hß •i¢u 

BsiØPõÚ AÁμx ÁmhõμzvÀ 8% Ámi 2,500 

¹£õÁõP C¸¢ux. AÁº ¹£õ´US J¸ ©õu® 

ÁõhøPUS ÂkQßÓ J¸ Ãmiß E›ø©¯õÍº 2,500. 

ÃmiØPõÚ AÁμx ö\»ÄPÒ ¤ßÁ¸©õÖ : 

 |Pμõm] Á› 3,000 

 6,600 Ãmiß Pmk©õÚzvØPõÚ Phß «uõÚ Ámi 

 £Êx 500 

 AÁº Aμ\õ[PzvÀ BºÁ•® EÒÍõº. ¹. 14,000 

(ö©õzu) 
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 AÁº J¸ {ÖÁÚzvÀ C¸¢x ¹. 5,000 ©ØÖ® AÁμx 

{ÖÁÚzvß Á›US ¹. 600. uÚx ÁõÌ|õÎÀ J¸ 

B²Ò Põ¨¥mk ¤Ÿª¯® AÁº ¹. 700. AÁº ¹. 200 

•uÀ ¤.G®. ÷u]¯ {Áõμn {v¯®. ÿ £õ_ ö©õzu 

Á¸©õÚzøu PnUQk[PÒ. 

12. “The incidence of income tax depends upon the 
residential status of an assessee” – Discuss. 

 “Á¸©õÚ Á›°ß \®£Í® J¸ ©v¨¥mhõÍ›ß 

Si°¸¨¦ {ø»ø¯ \õº¢xÒÍx” – ÂÁõu®. 

 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

Accounting and Finance 

COST ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Describe the different elements of cost in detail. 

 AhUPÂø»°ß £À÷ÁÖ Ai¨£øh TÖPøÍ 

ÂÍUSP. 

2. From the following information calculate the 
earnings of three workers X, Y and Z under Gant 
task bonus plan. 

 (a) Time rate Rs. 15 per hour  

 (b) High task per day of 8 hours — 80 units. 

 (c) High piece rate Rs. 2 per unit.  

 UG–509 BAF-34
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 (d) Day’s output :  

  X – 70 units,  

  Y – 80 units,  

  Z – 90 units. 

 RÌöPõkUP¨£mkÒÍ uPÁÀPÎÀ C¸¢x X, Y ©ØÖ® 
Z  BQ¯ ‰ßÖ £o¯õÍºPÎß T¼ø¯ Põßm hõìU 

FUPz vmhzvß ‰»® PnUQkP. 

 (A) ÷|μÃu® ¹. 15 J¸ ©oUS 

 (B) J¸ |õøÍUPõÚ Ea\Áμ®¦ 8 ©oUS – 80 

A»SPÒ 

 (C) J¸ ö£õ¸ÐUPõÚ E¯º¢u Ãu® ¹. 2 

 (D) J¸ |õøÍUPõÚ EØ£zv öÁÎ±k : 

   X – 70 A»SPÒ,  

  Y – 80 A»SPÒ,  

  Z – 90 A»SPÒ. 

3. What do you understand by Reconciliation of cost 
and Financial Accounts? State any five reasons. 

 AhUPÂø» ©ØÖ® {v°¯À PnUS \›PmkuÀ £ØÔ 

} AÔ¢ux ¯õx? \›Pmk £mi¯¾UPõÚ I¢x 

Põμn[PøÍ GÊxP. 
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4. A product passes through three processes. During 
March 2001, 1,000 finished units were produced 
with the following expenditure : 

 Process A  Process B Process C

Direct Materials 2,500 3,600 3,000 

Direct Wages 6,000 5,000 4,000 

 Overhead expenses amounted in all to Rs. 7,000, 

they are to be apportioned on the basis of direct 

wages. Main raw materials issued to Process A 

(besides above) were worth Rs. 7,000. Prepare the 

Process Accounts concerned. 

 J¸ u¯õ›¨¦ ‰ßÖ ö\¯À•øÓPÍõÀ ö\ÀQÓx. 

©õºa 2001 CÀ, 1,000 A»SPÒ ¤ßÁ¸® 

ö\»ÂÚ[PÐhß EØ£zv ö\´¯¨£mhÚ : 

 £i{ø» A  £i{ø» B £i{ø» C

÷|μi ö£õ¸mPÒ 2,500 3,600 3,000 

÷|μi Fv¯® 6,000 5,000 4,000 

 ÷©À{ø» ö\»ÄPÒ ¹. 7000 ÷|μi Fv¯zvß 

Ai¨£øh°À JxUP¨£h ÷Ásk®. £i{ø» AUS 

ÁÇ[P¨£mh •UQ¯ ‰»¨ö£õ¸mPÒ ¹. 7,000. 

(÷©÷» öPõkUP¨£mhx uÂμ) £i{ø» PnUøP 

u¯õº ö\´¯Ä®.  
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5. From the following date calculate :  
 (a) P/V ratio  

 (b)  Variable cost  

 (c) Profit 

 Sales Rs. 80,000,  

 Fixed expenses Rs. 15,000 and BEP Rs. 50,000 

 RÌPsh uPÁ¼ß Ai¨£øh°À (A) C»õ£ 

ÂØ£øÚ ÂQu® (B) ©õÖ® ö\»ÄPÒ ©ØÖ®  

(C) C»õ£zøu PnUQkP. 

 ÂØ£øÚ ¹. 80,000 ©õÓõa ö\»ÄPÒ ¹. 15,000 

©ØÖ® C»õ£ |mh©ØÓ ¦ÒÎ ¹. 50,000. 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. You are required to prepare a cost sheet from the 
following information.     

 Rs. 

Materials purchased 2,00,000 

Wages 1,00,000 

Direct Expenses 20,000 

Opening stock of materials 40,000 

Closing stock of materials 60,000 
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 Factory overhead is absorbed at 20% on wages. 
Administration overhead is 25% on the works cost. 
Selling and distribution overheads are 20% on the 
cost of production. Profit is 20% on sales. 

 R÷Ç uμ¨£mkÒÍ Â£μ[PÎÀ C¸¢x, AhUPÂø» 

£mi¯À PnUS u¯õ›UPÄ®. 

 ¹. 

‰»¨ö£õ¸Ò 2,00,000 

T¼ 1,00,000 

÷|μi ö\»ÄPÒ 20,000 

‰»¨ö£õ¸Ò – Bsk Bμ®£ C¸¨¦ 40,000 

‰»¨ö£õ¸Ò  – Bsk CÖv°À 60,000 

 Bø» ÷©Øö\»Ä T¼°¼¸¢x 20% PnUQkP. 

A¾Á»P ÷©Øö\»Ä Bø» AhUPÂø»°¼¸¢x  

25% PnUQkP. ÂØ£øÚ ©ØÖ® £Qº©õÚ 

÷©Øö\»ÄPÒ EØ£zv AhUP Âø»°¼¸¢x 20% 

PnUQkP. ÂØ£øÚ°¼¸¢x 20% »õ£® PnUQkP. 

7. From the following particulars prepare a 
statement of labour cost showing the cost per day 
(8 hours). 

 (a) Monthly salary — Rs. 9,000. 

 (b) Leave Salary — 5% of (a) 

 (c) Employer’s contribution to Provident Fund 
8% of (a) and (b). 
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 (d)  Employer’s contribution to ESI — 3% of (a) 
and (b). 

 (e) Pro rata expenditure on amenities to labour 

Rs. 1,000 per head per month. 

 (f) No. of working hours in a month of 25 days – 

8 hours per day. 

 RÌPõq® Â£μ[PÎ¼¸¢x J¸ |õÒ (8 ©oPÒ) 

BÒ T¼ AhUP AÔUøPø¯ u¯õº ö\´P. 

 (A) ©õua \®£Í® ¹. 9,000 

 (B) Âk¨¦ \®£Í® 5% (A) «x 

 (C) PF–SUS £o AÎzuÁ›ß £[PÎ¨¦  8% (A) 

©ØÖ® (B) «x 

 (D) ESI–SUS £o AÎzuÁ›ß £[PÎ¨¦ 3%  

(A) ©ØÖ® (B) «x 

 (E) J¸ öuõÈ»õÍ¸US J¸ ©õuzvØS Á\vPÒ 

ö\´¯¨£mh ÂQuõa\õμa ö\»Ä ¹. 1,000. 

 (F) J¸ |õÐUS 8 ©oUS Ãu® 25 |õmPÐUS 

£o ö\´uÚº (J¸ ©õuzvØS) 
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8. The profits shown in the financial accounts was 
Rs. 1,12,870 and for the same period the cost 
accounts showed a profit of Rs. 27,040. 
Examination of the accounts showed the following 
differences: 

 Cost Accounts Financial Accounts

            Rs.                   Rs. 

Depreciation 98,260 –

Stock valuation :  

Opening stock 2,75,100 2,55,000

Closing stock 1,82,180 1,87,500

Profit on sale of asset – 8,500

Dividend received – 26,350

Imputed rent charge 32,500 –

 Reconcile the profit figures. 

 {v°¯À PnUQß £i »õ£®  ¹. 1,12,870. ÷©¾® 

A¢uõsiß AhUPÂø» PnUS Põmk® »õ£®  

¹. 27,040. PnUSPøÍ Bμõ´¢uv¼¸¢x RÌPsh 

÷ÁÖ£õkPÒ PõsQßÓx. 

 AhUPÂø» PnUS {v PnUS

               ¹.            ¹. 

÷u´©õÚ® 98,260 –

\μUS ©v¨¦ : 

Bμ®£ \μUS 2,75,100 2,55,000

CÖv \μUS 1,82,180 1,87,500
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 AhUPÂø» PnUS {v PnUS

               ¹.            ¹. 

ö\õzx ÂØ£øÚ°ß C»õ£® – 8,500

£[Põuõ¯® ö£ØÓx – 26,350

ÁõhøP PnUQmhx 32,500 –

 »õ£ öuõøPø¯ \›Pmi PõmkP. 

9. The following are the expenses of Balaji & Co., in 

respect of a contract which commenced on  

1st January 2008.  

 Rs. 

Materials purchased 50,000 

Materials on hand 2,500 

Direct wages 75,000 

Plant issued 25,000 

Direct expenses 40,000 

 The contract price was Rs. 7,50,000 and the same 

was duly received when the contract was 

completed in August 2008. Charge indirect 

expenses at 15% on wages; provide Rs. 5,000 for 

depreciation on plant. Prepare the contract 

account. 
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 v¸ÁõÍºPÒ £õ»õâ P®ö£Û 2008 áÚÁ› 1À 

J¨£¢u AhUPÂø» ö\»ÂÚ[PÒ R÷Ç 

öPõkUP¨£mkÒÍx. 

 ¹. 

‰»¨ö£õ¸Ò öPõÒ•uÀ 50,000 
‰»¨ö£õ¸Ò øP°¾ÒÍx 2,500 
÷|μiU T¼ 75,000 
C¯¢vμ® Áõ[P¨£mhx 25,000 
÷|μi ö\»ÄPÒ 40,000 

 2008–BPìmiÀ J¨£¢u® •iUP¨ ö£ØÖ 

J¨£¢uzvØPõÚ Âø» ¹. 7,50,000 •øÓ¯õP 

ö£Ó¨£mhx. T¼ «x 15% ©øÓ•P ö\»ÄPÒ 

PnUQkP. C¯¢vμzvß «uõÚ ÷u´©õÚ® ¹. 5,000. 

J¨£¢u AhUPÂø»U PnUQøÚ u¯õº ö\´P. 

10. The sales turnover and profit during two years 
were as follows : 

 2012 2013 
 Rs. Rs. 

Sales 1,30,000 1,50,000
Profit 6,000 10,000 

 You are required to calculate : 
 (a) P/V ratio.  
 (b)  Break Even Point. 
 (c) Sales required to earn a profit of Rs. 15,000. 
 (d) Profit made when sales are Rs. 1,10,000. 
 (e) Margin of Safety at Profit of Rs. 20,000. 
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 Cμsk BskPÐUPõÚ ÂØ£øÚ ©ØÖ® C»õ£® 

¤ßÁ¸©õÖ : 

 2012 2013 

 ¹. ¹. 

ÂØ£øÚ 1,30,000 1,50,000

C»õ£® 6,000 10,000 

 ¤ßÁ¸ÁÚÁØøÓU PnUQkP. 

 (A) £[PÎ¨¦ ÂQu® 

 (B) C»õ£ |mh©ØÓ ¦ÒÎ 

 (C) C»õ£® 15,000  DmkÁuØS ÷uøÁ¯õÚ 

ÂØ£øÚ 

 (D) ÂØ£øÚ ¹. 1,10,000 GÛÀ C»õ£® Dmi¯x 

 (E) C»õ£®  20,000 GÛÀ £õxPõ¨¦ ÂØ£øÚ. 

11. Apportion the overheads among the departments 
P, Q, R and S. 

 Rs. 

Work’s Manager’s Salary 4,000 

Contribution to P.F. 9,000 

Plant maintenance 4,000 

Canteen expenses 12,000 

Power 21,000 

Depreciation 20,000 

Rent 6,000 
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 Additional Information : 
Particulars P Q R S 

No. of employees 16 8 4 4

Area occupied (sq.ft.) 2,000 3,000 500 500

Value of Plant (Rs.) 75,000 1,00,000 25,000 –

Wages (Rs.) 40,000 20,000 10,000 5,000

Horse Power 3 3 1 –

 P, Q, R ©ØÖ® S xøÓPÐUS ÷©Øö\»ÄPøÍ 

£Qº¢uÎUPÄ®. 

 ¹. 

£o ÷©»õÍμx \®£Í® 4,000 

P.F. SUS £[PÎ¨¦ 9,000 

C¯¢vμ £μõ©›¨¦ 4,000 

÷Psjß ö\»ÄPÒ 12,000 

G› \Uv 21,000 

÷u´©õÚ® 20,000 

ÁõhøP 6,000 

 TkuÀ uPÁÀPÒ : 

Â£μ[PÒ P Q R S 

£o¯õÍº GsoUøP 16 8 4 4

£Sv £μ¨£ÍÄ – \xμ Ai 2,000 3,000 500 500

C¯¢vμzvß ©v¨¦ ¹. 75,000 1,00,000 25,000 –

T¼ ¹. 40,000 20,000 10,000 5,000

Svøμ \Uv 3 3 1 –
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12. From the following data, calculate :  

 (a) Material Cost Variance.  

 (b) Material Price Variance. 

 (c)  Material Usage Variance.  

 (d)  Material Mix Variance. 
Name of the material Standard Actual 

 Kg Rate Kg Rate

X 8,000 1.05 7,500 1.20 

Y 3,000 2.15 3,300 2.30 

Z 2,000 3.30 2,400 3.50 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, PnUQkP : 

 (A) ‰»¨ö£õ¸Ò AhUPÂø» ©õÖ£õk 

 (B) ‰»¨ö£õ¸Ò Âø» ©õÖ£õk 

 (C) ‰»¨ö£õ¸Ò E£÷¯õP ©õÖ£õk 

 (D) ‰»¨ö£õ¸Ò P»øÁ ©õÖ£õk 

‰»¨ö£õ¸Îß ö£¯º {ºn°UP¨£mhx Esø© {»Áμ®

 AÍÄ Q. Âø» AÍÄ Q. Âø»

X 8,000 1.05 7,500 1.20 

Y 3,000 2.15 3,300 2.30 

Z 2,000 3.30 2,400 3.50 

——––––––––– 
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ACCOUNTING FOR MANAGERIAL DECISION 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Describe the characteristics of Management 
Accounting. 

 ÷©»õsø© PnUS £vÂ¯¼ß ußø©PøÍ ÂÁ›. 

2. What are the limitations of financial statement 
analysis? 

 {v {ø» AÔUøP £S¢uõ´ÂÀ EÒÍ SøÓ£õkPÒ 

¯õøÁ? 

3. Enumerate different ‘Sources’ and ‘Applications’ of 
cash. 

 ÷ÁÖ£mh “Buõμ[PÒ” ©ØÖ® “£¯ß£õkPÒ” 
£nzøu PnUQk. 

 UG–510 BAF–35
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4. From the following compute the value of stock 

 Sales    Rs. 10,00,000 

 GP Ratio   25% 

 Stock Turnover Ratio 10 

 Closing stock is more than opening stock by  
Rs. 25,000. 

 RÌPsh ÂÁμ[PÎ¼¸¢x ‘\μUQ¸¨¦’ ©v¨ø£ 

Psk¤i. 

 ÂØ£øÚ   ®. 10,00,000 

 ö©õzu »õ£ ÂQu® 25% 

 \μUQ¸¨¦ _ÇØ] ÂQu® 10 

 CÖv \μUQ¸¨¦, Bμ®£ \μUQÖ¨ø£ Âh ¹. 25,000 

AvP®. 

5. Find out the pay-back period of the two options 
given below. Standard pay-back is 3 years. 
Suggest the profitable investment. 

 Particulars Option — I (Rs.) Option — II (Rs.) 

 Required   8,000 7,000 
 Investment 

 Cash inflow: 

 Year 1   4,000 2,500 

 Year 2   3,000 2,500 

 Year 3   2,000 2,500 

 Year 4   1,000 2,500 
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 R÷Ç öPõkUP¨£mkÒÍ Cμsk Â¸¨£[PÎß 

C¸¢x JßøÓ •u½k «m¦ Põ» •øÓ°À 

Psk¤iUPÄ®. {ø»¯õÚ «m¦ Põ»® & 3 BskPÒ. 

 ÂÁμ®  A — I (¹.)  B — II (¹.) 

 ÷uøÁ¯õÚ   8,000 7,000 
 •u½k 

 £n ÁμÄ: 

 Á¸h® 1   4,000 2,500 

 Á¸h® 2   3,000 2,500 

 Á¸h® 3   2,000 2,500 

 Á¸h® 4   1,000 2,500 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Define Capital Budgeting. What are the objectives 
of ‘Capital Expenditure Budget’?  

 ‰»uÚ £möám Áøμ¯ÖUP. ‰»uÚ ö\»Âß ÁμÄ 

ö\»Ä vmhzvß ÷|õUP[PÒ ¯õøÁ? 

7. Distinguish between Cost Accounting and 
Management Accounting. 

 ÷©»õsø© PnUQ¯¾US® AhUPÂø» 

PnUQ¯¾US•ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 
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8. Discuss the different types of analysis of financial 
statements in detail. 

 {v{ø» AÔUøPPøÍ £S¨£õ´ÁvÀ EÒÍ 

ÁøP°øÚ ÂÁ›. 

9. Prepare a flexible budget on the basis of the data 
given below and ascertain the total cost at 40% 
capacity and 80% capacity levels. 

Particulars At 40% 
capacity  

At 60% 
capacity 

At 80% 
capacity 

 Rs. Rs. Rs. 

Fixed costs:    

Salaries – 30,000 – 

Insurance – 20,000 – 

Variable costs:   

Materials – 90,000 – 

Wages – 75,000 – 

Semi — variable 
costs: 

– – 

Maintenance 
(60% variable) 

– 24,000 – 

Lighting (50% 
fixed) 

– 16,000 – 

Supervision (80% 
fixed) 

– 30,000 – 

Total cost  2,85,000  
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 ¤ßÁ¸® ÂÁμ[PÎß Ai¨£øh°À J¸ ö|QÌÄ 

vmh¨ £mi¯À u¯õ›zx, ö£õÔ°ß 40% ©ØÖ® 80% 

ö\¯À {ø»PÎÀ ö©õzu ö\»øÁ PnUQkP. 

ÂÁμ® 40% 

ö\¯À 

{ø» 

60% ö\¯À 

{ø» 

80% 

ö\¯À 

{ø» 

 ¹. ¹. ¹. 

 {ø»¯õÚ 

÷©Øö\»ÄPÒ : 

   

\®£Í® – 30,000 – 

Põ¨¥k – 20,000 – 

©õÖ® 

÷©Øö\»ÄPÒ : 

  

‰»¨ö£õ¸Ò – 90,000 – 

T¼ – 75,000 – 

£Sv&©õÖ® 

ö\»ÄPÒ: 

  

£μõ©›¨¦ (60% 

©õÓTi¯x) 

– 24,000 – 

ø»mi[ (50% 

{ø»¯õÚx) 

– 16,000 – 

÷©Ø£õºøÁ (80% 

{ø»¯õÚx) 

– 30,000 – 

ö©õzu ö\»Ä  2,85,000  
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10. From the following Balance Sheets of Sekhar Ltd., 
prepare a statement of sources and application of 
funds and schedule of changes in working capital 
for 2017. 

Balance Sheets 
Liabilities 2016 

Rs. 
 2017 
Rs. 

Assets 2016 
Rs. 

2017 
Rs. 

Share 
Capital 

1,00,000  1,25,000 Land & 
Building 

1,00,000 95,000

General 
Reserve 

25,000  30,000 Plant & 
Machinery 

75,000 84,500

P & L A/c 15,250  15,300 Inventories 50,000 37,500

Bank Loan 35,000  NIL Sundry 
Debtors 

40,000 32,000

Creditors 75,000  67,500 Cash 250 300

Provision 
for Txn 

15,000  17,500 Bank NIL 4,000
2,000

    Goodwill NIL

 2,65,250  2,55,300  2,65,250 2,55,300

 Additional Information: 

 (a) Dividend of Rs. 11,000 was paid during 2017. 

 (b) Depreciation on plant written off in the year 
2017 was Rs. 7,000. 

 (c) A provision for income tax Rs. 16,500 was 
made during the year. 
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 ¤ßÁ¸® ÷\Pº ¼ªöhm C¸¨¦ {ø» 

SÔ¨¦PÎ¼¸¢x 2017°À |øh•øÓ •uÀ ©õÖuÀ 

AÔUøP ©ØÖ® {v |h©õmh AÔUøP u¯õº ö\´P. 

C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ 2016  

¹. 

 2017 

¹. 

ö\õzxUPÒ 2016 

¹. 

2017 

¹. 

£[S •uÀ 1,00,000  1,25,000 Ãk ©ØÖ® 

{»® 

1,00,000 95,000

ö£õx Põ¨¦ 25,000  30,000 C¯¢vμ® 75,000 84,500

C»õ£/|mhU 

PnUS 

15,250  15,300 \μUQ¸¨¦ 50,000 37,500

Á[Q Phß 35,000  – PhÚõÎPÒ 40,000 32,000

PhÜ¢÷uõºPÒ 75,000  67,500 öμõUP® 250 300

Á›PÒ 

JxURk 

15,000  17,500 Á[Q 

C¸¨¦ 

– 4,000

    |ß ©v¨¦ – 2,000

 2,65,250  2,55,300  2,65,250 2,55,300

 TkuÀ Â£μ[PÒ : 

 (A) 2017À £[Põuõ¯® ¹. 11,000 öPõkUP£mhx 

 (B) 2017® Bsiß C¯¢vμzvØPõÚ ÷u´©õÚ® 

¹. 7,000 

 (C) Á¸©õÚ Á› JxURk ¹. 16,500, 2017® 

BsiÀ HØ£kzu£mhx. 



 UG–510 8

11. From the following information make out a 
statement of proprietors funds with as many 
details as possible: 

 (a)  Current ratio 2.5 

 (b)  Liquidity ratio 1.5 

 (c)  Proprietary ratio (fixed assets / proprietary 
fund) 0.75 

 (d) Working capital Rs. 60,000 

 (e) Reserves and surplus Rs. 40,000 

 (f) Bank overdraft Rs. 10,000 

 (g) There is no long — term loan or fictitious 
asset. 

 ¤ßÁ¸® uPÁÀPÎß£i, E›ø©¯õÍºPÎß {v 

AÔUøPPøÍ u¯õº ö\´P : 

 (A) |h¨¦ ÂQu® – 2.5 

 (B) }ºø© ÂQu® – 1.5 

 (C) ö\õzx ({ø») E›ø©¯õÍº ÂQu® – 0.75 

 (D) |øh•øÓ •uÀ – ¹. 60,000 

 (E) Põ¨¦®, ªSv²® – ¹. 40,000 

 (F) Á[Q ÷©ÀÁøμ¨ £ØÖ – ¹. 10,000 

 (G) }sh Põ» Phß ©ØÖ® PØ£øÚ ö\õzxUPÒ 

CÀø». 
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12.  The following figures relate to the trading 
activities of a company for the year ended 
31.12.16. 

Particulars Rs. Particulars Rs. 

Sales  
Purchases 

1,00,000 
70,000 

Salary of 
salesmen 

1,800

Closing stock  14,000 Advertising 700

Sales returns  
Dividend received 

4,000 
1,200 

Travelling 
expenses 

500

Profit on sale of 
fixed assets  

600 Salaries (office) 3,000

Loss of sale of 
shares  

300 Rent 
Stationery 

6,000
200

Opening stock  11,000 Depreciation 1,000

Provision for tax  7,000 Other expenses 2,000

 You are required to calculate: 

 (a) GP ratio 

 (b) NP ratio 

 (c) Operating ratio 

 (d) Operating profit ratio. 

 RÌ AÎzxÒÍ Â£μ[PøÍU 31.12.16 E›¯uõS®. 

ÂÁμ® ¹. ÂÁμ® ¹. 

ÂØ£øÚ 

öPõÒ•uÀ 

1,00,000 

70,000 

ÂØ£øÚ¯õÍºPÎß 

\®£Í® 

1,800

CÖv \μUS 14,000 ÂÍ®£μ® 700
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ÂØ£øÚ°À 

v¸¨£ ö£ØÓx 

4,000 

 

£¯na  ö\»ÄPÒ 500

£[Põuõ¯® 

ö£ØÓx 

1,200 A¾Á»P \®£Í® 3,000

ö\õzxUPøÍ 

ÂØ£vÀ ö£ØÓ 

C»õ£® 

600 ÁõhøP 

ìöhåÚ› 

6,000

200

£[S 

ÂØ£øÚ°À 

|èh® 

300 ÷u´©õÚ® 1,000

öuõhUP \μUS 11,000 Cuμ ö\»ÄPÒ 2,000

Á› JxURk 7,000  

 ÷©ØöPõkzxÒÍ Â£μ[PøÍU öPõsk  

 (A) ö©õzu »õ£ ÂQu® 

 (B) {Pμ »õ£ ÂQu® 

 (C) C¯UP ÂQu® 

 (D) C¯UP »õ£ ÂQu®. 

––––––––––––––– 


